VCE & PDF https://www.passapply.com/2v0-642.html
2024 Latest passapply 2V0-642 PDF and VCE dumps Download

PassApply.com

2V 0-64204A3

VMware Certified Professional 6 - Network Virtualization 6.2 Exam

Pass VMware 2V0-642 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/2v0-642.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 2V0-642 Dumps | 2V0-642 PDF Dumps | 2V0-642 VCE Dumps 1/3


https://www.passapply.com/2v0-642.html
https://www.passapply.com/2v0-642.html
https://www.passapply.com/2v0-642.html

VCE & PDF https://www.passapply.com/2v0-642.html
2024 Latest passapply 2V0-642 PDF and VCE dumps Download

PassApply.com

QUESTION 1

Which two statements are true regarding L2 Bridges and Distributed Logical Routers? (Choose two.)
A. There can only be one instance of an L2 Bridge on a DLR.

B. Each L2 bridge instance can map to multiple VLANS.

C. Each L2 bridge instance can only map to a single VLAN.

D. There can be multiple instances of an L2 bridge on a DLR.

Correct Answer: CD

QUESTION 2

An administrator enables the NSX Ticket Logger to track infrastructure changes. The administrator logs out for lunch,
returns and logs back in to complete the task. What is the status of ticket logger when the administrator logs back in?

A. The ticket logger still tracks changes until it is turned off by the administrator.

B. The ticket logger is turned off.

C. The ticket logger will prompt the user if they still want to continue tracking changes.
D. The ticket logger will display an error.

Correct Answer: B

QUESTION 3

What is required before running an Activity Monitoring report?
A. Enable data collection on the NSX Controller.

B. Enable data collection on the vCenter Server.

C. Enable data collection on the NSX Manager.

D. Enable data collection on the virtual machine.

Correct Answer: D

QUESTION 4
Which two methods does VMware NSX offer to integrate with third-party partners? (Choose two.)

A. Integration Manager
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B. Service Chaining
C. VMware NSX APIs
D. Universal Synchronization Service

Correct Answer: BC

QUESTION 5

What can be enabled on the vSphere Distributed Switch to monitor IP packets that are passing through a distributed
port group?

A. Traffic Marking
B. TraceFlow

C. Traffic Filtering
D. NetFlow

Correct Answer: D
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